6.3.2 Dg3

AB M-18 M-32 B Dg3 6.3.5  6.3.6
A B AB 30 6.3.2
-20 -35 25 40 AB
cm/sec
E-1 30 20 30 9.0x 102 2.2x 10% 0.03 0.45
B-1 A 30 20 30 6.0x 102 8.0x 1072 0.003 0.18
AB
15 -45 20 50 6.3.3  6.3.4 AB
B 20 50
saem ted e Dg3 M-20 2.5x 107'cm
' " g /sec 6.3.3
h Il.l- 1".'-:-" 7 ‘:'I" L] ‘: 11-" ':E::I; l'}';:"' l'l:ll'-_l-'.'-':'.tl wl — ﬁ
gm. e 50 i e Rl E—— .
I— z i A IS I p—
. AT, 2 E s ol 5
- H [ S 1 4 ] u i 6.3.3 AB
i i | cm/sec
= {
i : X Y VA 1/c
B 1x 1073 1x 1073 1x 1073 40 2x 10°
Ac 2x 10 2x 10 2x 10 20 1x 10°°
As 3x 107 3x 1072 3x 107 30 5x 10°
b Ag 5x 1072 5x 1072 5x 1072 20 1x 10
e | = L 1 H
B . B9 Ds 1x 1072 1x 1072 1x 1072 20 4x 10
As | g Y ]
% B N Dgl 2x 102 2x 102 2x 102 20 1x 10°
Ty Dg2 2 1x 100 | 1x10* | 1x 10° 20 5x 107
(v N T T ]
D2 A Dg3 3 2.5x 10" 2.5%x 1071 2.5%x 1071 20 5x 107
i T
Dc 1x 10° 1x 10°° 1x 10°° 20 2x 107
6.3.3 A B AB
AB
AB M-20 9.0
x 102 2.2x 107'cm/sec A 6.0x 102 8.
0x 10°cm/sec 6.3.2 Dg3 A B
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6.3.4 ( (Dg2,Dg3) )

Dg2 Dg3
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6.3.6 ( 10 1)

Ac
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